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Calculus Practice: Techniques for Finding Antiderivatives 16b

Evaluate each indefinite integral. Use the provided substitution.

5 5X 2sin —2X
1) f%dx; U= sin 5x 2) fsnl—zdx; u=cos —2X
4 + sin“ 5x 25 + cos” —2X

4csc 4xcot 4x 5¢sc? 5x
3) f— dx; u=csc 4x 4) f——dx; U= cot 5X
\/25 —csc? 4x V9 — cot? 5x

2sin —2X 5sec? —5x
5) f o dx; u=cos —2x 6) f—sec—z dx; u=tan-5x
COS —2X - \/cos2 —-2X—25 16 + tan” —5X
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csc —Xcot —X
7) f—zdx; U =csc —X
9+ csc” —X

2csc —2Xcot —2X
9)[ es¢ €0 dx; u=csc-2x

16 + csc? —2x

Scsc Sxcot S5X
11)[ o8¢ 070 dx; u=csc 5x

B \/16—csc2 5%

2cos —2X
13) f— cos dx; u=sin-2x
\/1 — sin? =2x
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4sec? —4x
8) f— 5 dx; u=tan —4x
\/1 — tan® —4X

4cos 4X
10) dex; U = sin 4%
9 + sin’ 4x

3sin —3X
12) fm—zdx; u=cos —3X
4 + cos” —3x

4cos 4X
14) f%d& U = sin 4x
4 + sin” 4X
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Calculus Practice: Techniques for Finding Antiderivatives 16b

Evaluate each indefinite integral. Use the provided substitution.

5cos 5X 2sin —2X
1) dex; U= sin 5x 2) dex; u=cos —2X

4 + sin? 5x 25 + cos? —2x
1 ! S0 5X C 1 L —2X L C
2
4csc 4Xcot 4X 5¢sc? 5x
3) f— dx; u=csc 4x 4) f——dx; U= cot 5X
\/25 —csc? 4x V9 — cot? 5x
<in-! csc 4X iC gin-! cot 5X iC
5 3
2sin —2x 5sec? —5x
5) f 1 dx; u=cos—2X 6) f_sec—z dx; u=tan —5x
CcOS —2X - \/cos2 —2X =25 16 + tan” —5x
_ 1 tan —5X
1 sec”! ‘cos 2x‘ N _, tan ‘c

— - tan
C 4
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—Xcot —X 4sec? —4x
7) fw dx; u=csc—x 8) f 5 dx; u=tan —4x

9 + csc? —x B \/1 — tan® —4x
1 tan-! € X, C sin”! (tan —4x) + C
3
2¢sc —2Xcot —2X 4cos 4X
9) f ese 020 dx; u=csc—2x 10) j‘% dx; u=sin4x
16 + csc” —2X 9 + sin” 4X
1 . —=2X LC 1 tan-! S0 4x ‘c
4 4 3
Scsc Sxcot 5X 3sin —3X
11) f— eS¢ OAcO dx; u=csc5x 12) fsm—zdx; U= cos —3X
\/16—csc2 5% 4 + cos” —3X
1 —3X
sin! csc45x L C = tan~! cos L C
2cos —2X 4cos 4x
13) f— cos dx; u=sin-2x 14) f% dx; u=sin4x
V1 - sin? —2x 4 + sin® 4x
sin”™" (sin —2x) + C 1 tan~! sin 4x +C
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